Adding Integers

Find the sum.

(-35) + (-98) = 73 +-20 =
(-8) + (-68) = 44 + 39 =
(-25) + (+61) = 77 + 95 =
(+17) + (-43) = 86 + 76 =
(-98) + (+95) = 51 + 38 =
(+91) + (-95) = -60 +-93 =
(+73) + (-59) = 20 + -84 =
(-73) + (+85) = 34 + -53 =
(+25) + (+81) = -56 + 75 =
(-83) + (-36) = 6+12=
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Adding Integers

Find the sum.

(-35) + (-98) = -133 73 +-20 =-93
(-8) + (-68) = -76 44 + 39 = 83
(-25) + (+61) = 36 77 + 95 =18
(+17) + (-43) = -26 86 + 76 = 162
(-98) + (+95) = -3 51 + 38 = 89
(+91) + (-95) = -4 -60 + -93 = -153
(+73) + (-59) = 14 .20 + -84 = -104
(-73) + (+85) = 12 -34 + -53 = -87
(+25) + (+81) = 106 56 + 75 =19
(-83) + (-36) = -119 6+12=6
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